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Guess Paper – 2009

Class – X

Subject – Mathematics    
Time :- 3 Hrs                                                                                                  M.M:80
General Instructions:

[1] All questions are compulsory.

[2] This question paper consists of 30 questions divided into four Sections A, B, C and D. Section-A consist of 10 questions of 01 marks each, Section -B consists of 5 questions of 02 marks each, Section - C consist of 10 questions 03 marks each and  Section – D  consist of 5  questions 06 marks each.
[3] All questions in section – A are to be answered in one ward, one sentence or as per the exact requirement of the question.
[4] There is no overall choice. However, internal choice has been provided in one question of Section- B, three questions of Section-C and two questions of Section-D. You have to attempt only one of the alternatives in all such questions.
[5] In question of construction, drawings should be neat and exactly as per the given measurements.
[6] Use of calculator is not permitted.
__________________________________________________________________________
Section - A

1. Explain why 7 x 11 x 13 + 13 is a composite number ?

2. What are the  X intercepts of the graph of the polynomial: p(x) = x2 – 3x – 4.

3. Solve  
373x + 627y – 754 = 0



627x + 373y – 246 = 0

4. For what value of k the quadratic equation 2kx2 – 8x + k = 0 has repeated roots ?

5.Find  the value of  k, so that 8k – 4, 6k + 2 and 2k + 4 are three consecutive terms of 
   an A.P.

6.The areas of two similar triangles ABC and DEF are 64m2 and 169m2 respectively. 
    If BC = 4 cm, find EF.

7.Find the centroid of the triangle whose angular points are (3, -5), (-7, 4) and (10, -2)   

    respectively.

8. If
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9.The perimeter of a sector of a circle of radius 5.7cm is 27.2cm.  Find the area of the    

    sector.

10.If the probability of winning a game is 0.37, what is the probability of losing it ?

Section - B

11.If  the  points (-2, -1), (1, 0), (x, 3),(1, y) form a  parallelogram,find the values of x 
     and y.

                                                                Or
     Find  the  value of  k  for  which the points with coordinates (3, 2), (4, k) and (5, 3) 
     are collinear.

12. ∆  ABC  is  an  isosceles triangle  right  angled  at  B.  Two equilateral triangles are 

      constructed with the sides BC and AC.Find the ratio of the areas of two equilateral 
      triangles.

13. Find the roots of the quadratic equation 
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 by the method of  

      completing the square.

14. Find the sum of all integers between 50 and 500 which are divisible by 7.

Or
      Find the first negative term of the sequence 200, 195, 190, 185, ………….

15. Tickets  are  numbered  from 3  to 103.  They are well shuffled and then a ticket is 

      drawn at random.  What is the probability that the drawn ticket has

           (i)    a number 7 or multiple of 7

           (ii)   a number which is cube?

Section - C

16. Using Euclid’s division algorithm, find the HCF of 56, 96 and 404.

Or
      Prove √5 is an irrational number.

17. Solve graphically : 2y – x = 8, 5y – x = 14, y – 2x = 1.  Obtain  the  vertices  of  the 

      triangle so obtained by the graphs of the equations.

18. Show  that  the square of any positive integer is of the form 3m or 3m + 1 for some 
      integer m.

Or
      Find all the zeros of the polynomial 2x4 – 3x3 – 3x2 + 6x – 2, if it is given that two of  

      its zeros are 
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19. Prove 
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Or
      Prove 
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20. Construct  a ( ABC in which AC = 7cm, AB = 6 cm and BAC = 60 o, then  construct a 

       triangle similar to  the given triangle whose sides are 
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of the corresponding sides 
       of the ( ABC.

21. From the figure below, find the area of ( ABC.
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22. If  PQ  and RS  are  two  parallel  tangents  to  a  circle  with centre O and another 

      tangent  XY, with  point of  contact  C  intersects  PQ  at  A  and RS at B.Prove that 
      (AOB = 90o.

23. A square field an a equilateral triangular par have equal perimeters.  If the cost of 

      plugging  the field at rate of Rs. 10 per m2 is Rs. 1440, find the cost of maintaining 

      the park at the rate of Rs. 25 per m2.

24. If (x1, y1), (x2, y2) and (x3, y3) are the vertices of a triangle, prove that its centroid     

      is   
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25. Ragini scored 40 marks in a test, getting 3 marks for each right answer and losing 1 mark for each wrong answer.  Had 4 marks been awarded for each correct answer and 2 marks been deducted for each incorrect answer, then Ragini would have scored 50 marks. How many questions were there in the test ?

                                                        Section – D
26. If one angle of triangle is equal to one angle of the other triangle and the sides including     these angles are proportional, then the two triangles are similar.  Prove using this, from the     given figure. Show that (A = (C and (B = (D.  If OA 
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Or

  Two tangents TP and TQ are drawn to a circle with centre O from an external point T.Prove  that (PTQ = 2 (OPQ.PQ is a chord of length 8cm of a circle of radius 5 cm. The tangents at P and Q intersect at a point T. Find the length of TP.

 27.A right triangle, whose sides  are 3 cm, 4 cm and 5cm, is made to revolve about its  

 hypotenuse.  Find the volume and surface area of the double cone so formed.

Or
      A wooden toy rocket is in the shape of a cone mounted on a cylinder.The height of the entire rocket is 26cm, while the height of the conical part is 6 cm.  The base of the conical portion has a diameter of 5 cm, while the base diameter of the cylindrical portion is 3 cm.  If the conical portion is to be painted orange and the cylindrical portion yellow.  Find the area of the rocket painted with each of these colours.

28. A 1.2 m  tall  girl spots a  balloon  moving  with  the wind in  a  horizontal line at a 

      height  of 88.2 m  from the ground.  The angle of elevation of the balloon from the 
      eyes  of  the  girl  at  any  instant is 60o. After  20  seconds,  the angle of elevation 
      reduces to 30o, find the distance traveled by the balloon and also find its speed.

29. 4  men and  4  boys can do  a  piece  of work in 3 days, while 2 men and 5 boys can  

      finish it in  4  days.  How long would it take 1 boy to do it?  How long would it take 
      1 man to do it ?

30. The  median  of the  following  data  is 525.  Find the values of x and y, if the total 
      frequency is 100. 

	Class interval
	0 -100
	100 – 200
	200 – 300
	300 – 400
	400 – 500
	500 – 600
	600 – 700
	700 – 800
	800 – 900
	900 - 1000

	f
	2
	5
	X
	12
	17
	20
	Y
	9
	7
	4
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